
Pre-Galculus - Honors

Homework#71 Answers

From Horghton-fiifflin Pnecolculus 3td Edition

pTOt-7O2;
29) vertex: (O, O), focusr (O, -312), verticol oxis
, p=-3/2,4p=-6 x2=-6y

31) vertex: (O, O), focust (-2, O). horizontol tixis

P=-2,4p=-8 Y2 = -8x

34) vedex: (0, O), directrix: y = 3. verticol orcis

P=-3,4P=-1?' * = -l?y

36) vertex: (O, O), directrix: x = -3, horizontol onis

P=3,4P=12 t'=t?x
43) vertex, (5, 2), focus: (3, 2), ,horizontol oxis

p= -2,4p = -8- (V -2)" = -8(x - 5)

45) vertex: (O, 4), directrix: y = 2, verticol oxis

Lesson 71

P=2,4p=8 xt=8(y-4)

9(3) = 14,e 9(-1) = 2
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9(-4) = -78O


